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ED–2005 

B. Com. (Part I) EXAMINATION, 2021 

(Group—II : Compulsory) 

Paper First 

BUSINESS MATHEMATICS 

Time : Three Hours 

Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- ¼v½ izfrLFkkiu fof/k ls gy dhft, % 5 

  x + y = 7 

2x – 3y  = 11 

Solve the method of substitution : 

  x + y = 7 

2x – 3y  = 11 

¼c½ firk dh vk;q vius iq= dh vk;q dh rhu xquh gSA 15 o”kZ 

igys firk dh vk;q iq= dh vk;q dh ukS xquh FkhA mudh 

orZeku vk;q Kkr dhft,A  10 
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A father ages three time that his son 15 year ago, 

fathers, age was nine times that of the son, find the 

present ages.  

vFkok 

(Or) 

,d dEiuh nks oLrqvksa X rFkk Y dk mRiknu djrh gSA nksuksa 

mRiknksa ds fy, vlsfEcfyax rFkk fQfua’kx dh vko’;drk gSA 

vlsEcyh foHkkx dh vf/kdre {kerk 50 ?k.Vs izfr lIrkg vkSj 

fQfufa’kax foHkkx dh vf/kdre {kerk 40 ?k.Vs izfr lIrkg gSA 

oLrq X ds fy, ,d lIrkg esa vlsfEcfyax dk le; 4 ?k.Vs 

rFkk fQfuf’kax dk le; 3 ?k.Vs gS] rFkk oLrq Y ds fy, Øe’k% 

3 ?k.Vs rFkk 5 ?k.Vs gSA oLrq X ij ` 16 rFkk oLrq Y ij  

` 14 ykHk gksrk gSA vf/kdre ykHk izkIr djus ds fy, nksuksa 

oLrqvksa ds fdl lap; dk mRiknu fd;k t,A  15 

leL;k dks js[kh; izØeu leL;k ds :i eas fyf[k,A  

A company produces two articles X and Y. There are two 

different departments assembly and finishing through 

which the articles are processed. The potential capacity of 

the assembly department is 50 hours a week and that of 

the finishing department 40 hours. A week production of 

one unit of X requires 4 hours in assembly and 3 hours in 

finishing and each unit of Y requires 3 hours in assembly 

and 5 hours in finishing. The profit is ` 16 for each unit of 

X and ` 14 for each unit of Y. 

Formulate a L. P. P. to this problem to determine the 

number of unit of X and Y to be produced each week to 

get maximum profit. 
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bdkbZ&2 

(UNIT—2) 

2- ¼v½ ;fn %      5 

2 5
A

1 3
 

    
1 1

B
3 2

 

AB rFkk BA Kkr dhft,A D;k AB = BA ?   

If :  

2 5
A

1 3
 

    
1 1

B
3 2

 

Find AB and BA. Is AB = BA ? 

¼c½ lkjf.kd A dk eku Kkr dhft, % 10 

4 8 2

A 0 3 5

2 3 1

  

Solve the determinant A : 

4 8 2

A 0 3 5

2 3 1

 

vFkok 

(Or) 

¼v½ ;fn log 4 = 0.6021 gks rks log 16 rFkk log 256 ds 

eku crkb,A 5 

If log 4 = 0.6021, find log 16 and log 256. 
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¼c½ y?kqx.kd lkj.kh dh lgk;rk ls eku Kkr dhft, %  10 

2.38 3.901

4.83
  

Find the value with the help of logarithm tables :  

2.38 3.901

4.83
 

bdkbZ&3 

(UNIT—3) 

3- ¼v½ ` 6,000 izfr o”kZ dekus ds fy, cSad eas fdruk #i;k 

tek djuk pkfg, tcfd C;kt dh nj 12% okf”kZd gS \ 

5 

What amount should be deposited in a bank to earn 

` 6,000 per annum when the rate of interest is 12% 

per annum ? 

¼c½ ;fn fu/kkZfjr nj 4% izfr o”kZ gks vkSj C;kt frekgh tksM+k 

tkrk gks rks C;kt dh okLrfod nj crkb,A  10 

If nominal rate of interest is 4% per annum and 

interest is compounded quarterly, then find the 

effective rate of interest.  

vFkok 

(Or) 

,d cSad us 10% okf”kZd C;kt ij dqN /ku m/kkj fy;k] ftldk 

C;kt izR;sd o”kZ ds vUr eas tksM+k tkrk gSA mlus mls 10% 

okf”kZd C;kt dh nj ij ]ftldk C;kt v/kZ o”kZ ij tksM+k tkrk 

gS] m/kkj fn;kA bl izdkj mls nks o”kks± esa ` 16.80 dk ykHk 

gqvk m/kkj fy;k x;k /ku Kkr dhft,A  15 
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A banker borrows money at 10% per annum, adding 

interest at the end of the year. He lends it at 10% per 

annum adding interest half-yearly by this he gain ` 16.80 

in two year find the sum borrowed.  

bdkbZ&4 

(UNIT—4) 

4- ¼v½ A rFkk B dh vk;q esa 9 : 4 dk vuqikr gSA lkr o”kZ ckn 

mldh vk;q dk vuqikr 5 : 3 gksxk orZeku esa nksuksa dh 

vk;q fudkfy,A     7 

The ages of A and B are in the ratio of 9 : 4, seven 

years hence, the ratio of their ages will be 5 : 3. Find 

their ages.  

¼c½ fdlh fuf’pr le; eas 12 c<+bZ 18 dqflZ;k¡ cuk ldrs gSaA 

mrus gh le; esa 10 c<+bZ fdruh dqflZ;k¡ cuk ldsaxsA 8 

12 carpenters make 18 chairs in a certain time. How 

many chairs will be made by 10 carpenters in the 

same time ?  

vFkok 

(Or) 

¼v½ ,d O;kikjh us dqN lkbfdyas [kjhnha ftudk vkSlr ewY; 

izfr lkbfdy ` 190 FkkA 10 lkbfdyksa dk vkSlr ewY;  

` 175 Fkk vkSj ‘ks”k lkbfdykas ds fy, ;g ` 200 FkkA 7  

A trader purchased some bicycles, The average price 

per bicycle was ` 190. The average price of 10 

bicycle was ` 175 and that of remaining bicycles it 

was ` 200, find the number of bicycles purchased.  
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¼c½ ;fn ,d la[;k ds 80% eas 32 tksM+us ij ifj.kke ogh 

la[;k gks rks og la[;k Kkr dhft,A  8 

If 32 is added to 80% of a number the result is the 

number itself. Find the number.  

bdkbZ&5 

(UNIT—5) 

5- ¼v½ ,d O;kikjh us vigkj dh nj dks 20% ls 25% dj 

fn;kA foØ; ewY; esa fdrus izfr’kr ifjorZu fd;k tk;s 

ftlls fd O;kikjh dks izkIr /kujkf’k ogh jgs \ 7 

A trader altered this trade discount from 20% to 

25%. By what percentage should the selling price be 

altered so that the amount available to the trader 

remain unaltered ? 

¼c½ fn[kkb, fd Ø; ;k ykxr ewY; ij 25% ykHk dk vFkZ 

foØ; ewY; ij 20% ykHk gksrk gSA 8 

Show that the profit of 25% on purchase price or 

cost price means 20% profit on selling price.  

vFkok 

(Or) 

,d vkneh dks ,d nqdku ` 6,000 esa cspus ij dqN gkfu gqbZA 

;fn og ml nqdku dks ` 7,550 esa csprk rks mls igyh gkfu 

ds nwus ds cjkcj ykHk gksrk gS \ Ø; ewY; Kkr dhft,A  15 

A man sold shop for ` 6,000 and lost something. Had he 

sold it for ` 7,550 his gain would have been double the 

former loss. Find the cost price.  
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